A<l Y oledl Ja

pule Axil)
X8 +5x+14=0 CHa?—21x—45=0
X+ 148 + 455 =0 X -3x-42=0

X+ 18x* +99x + 162 = 0 X+ 21x% + 140x + 288 = 0
CHad-21x=0 ¥ =168 +64x = 0

X+ 21x° + 140x + 288 = 0 X =8¢ +15x =0
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URed B

A<l Y oledl Ja

ol

X — 87 +5x+14=0
x=-1,7,2

X+ 147 +45x =0
x=-5,-9,0

X+ 18 +99x+ 162 =0
x=—6,-9,-3

X 4P =21x =0
x=3,-7,0

X+ 21x> + 140x+ 288 = 0
x=-8,-9,—4

EEN NG BL

X4+ —2lx—45=0
x=15-3,-3

Y —MBx—42=0
x=7,-1,-6

X + 21x> + 140x+ 288 = 0
x=-9,-8,—4

X — 16X + 64x = 0
x=28.8.0

X =8¢ +15x=0
x=3,50
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